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Decoding SSC CHSL 2024

eI A1 FH=T Fae s
T AT TFHT 3 ATEATHF Fq< (CHSL, 10+2) 2024
e LDC/#{4g #g=a%, DEO, DEO I 'A’
SR ES 3712
SSC CHSL 2024 STTeR==T Y19 arira 08 TfI= 2024
ST FLOATHT AT arg 07 ¥ 2024
SSC CHSL 7=t arire (feaw-1) 01, 02, 03, 04, 05, 08, 09, 10, 11 3T 12 et 2024
THAT HIE ToAT-1: AT TR - ST arer
fT-11 AtFeTE e HTorR- ST airer
TEEAT ATHT 15 {ToT
AferFd Hhaea s ssc.gov.in
THUEH HUAUHUS 2017 7 2024 73T {=F ST
EL] o= =T e
2024 3712
2023 1211
2022 3242
2021 6013
2020 4726
2019 4684
2018 5648
2017 5874
SSC CHSL f&are-1 F2-31F 2023
By e -3 0T / GETRA Fe-3 - T[T / FETIA FHe-3A T THE-HTE T[0T / FETA FE-3A 07
[LDC/JSA] [CAG srfor DCA] [ TE]
1A 153.91142 169.92585 169.28877
S ST 136.41166 157.67965 157.32139
A 124.52592 - 154.58030
At 152.26953 169.92585 168.77506
TTUH 151.09782 - 169.28877
S 102.47651 - 126.84662
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Sy FE-3A1% T[0T / TR F-31h Fe-3l1% T[UT / T Fe-3lish T[T -3 T[UT / TR FE-3AT T[T
[LDC/JSA] [CAG 3for DCA] [EaTTee]

o= 132.44172 - R
T 94.08797 115.87954
Rt 132.21752

PwD - Zd¥ 115.27865
T

SSC CHSL #Tfier a9 i=T Fie-3iw
P SSCCHSLfe@T1%2 | SSCCHSLfeoT 1%z %% | SSC CHSL fo¥ 1 %z %% 2019- | SSC CHSL faw 1 %2
#H 2022 2020-21 20 A6 2018-19
T3 140.18226 141.88710 159.52440 135.60
ERGIELISIG 112.86061 114.16235 136.10355 110.09

& 104.78368 108.88518 127.32836 99.09
AreTeRt 140.12370 139.42190 156.10198 133.74

TS gUH 131.40838

Tuguy 55.58610 72.06370 87.32036 56.11
Sl 107.63592 106.37481 124.36599 102.75
TAUA 65.89994 63.80870 81.08020 58.43
IR 89.87114 93.81684 123.78857 84.87

PwD-Zd¥ 56.41375

SSC CHSL 2024 Q=T [HhY

IHEATIAT SSC CHSL 2024 ATAF=AT PDF Hed SN FHE hefel T T (A T 0T STa93e e, TTIAT STet Ul HeuAT{TST 9 SArfor
SrexTOTe: TT=aT AT Hg<aT=aT aTe T g d. SSC CHSL 2024 13T F130il AT T{IT SHIATLAT T H20T STALTF AHAAT TF Hgwd =471 1T
ReTTaT ST =1 F7d g .

SSC CHSL 2024 TEE f&har ameiae

SSC CHSL 2024 31T Aa9iHed SEvaTaTSt SHEATIHT @Te o ST qUT T ITied:

(a) ATEATAT AT, fFhar
(b) AT AT, AT
(c) SaTe=T AN, fFar

(d) AT FATHT SAHT ST AT, T[R9, AR, Td AR 9T HieaT, AT,
TATIeT Rufed® i =TT (T ST Ao AEram), HAifedT, aarEt, 3,
TTASATOAT AT FPE U AT A FEAFEAETT AT A5 ST HATAT oM.

SSC CHSL 2024 FA¥3iaT (01 3iTee 2024 Js)

AT FFHT 97 18 7T ST FeTer a7 27 Y ST, SSC CHSL 9t 2024 |78 375t
FLOATE IT SIVATATST Sl FF (=g SHEATT AT FANSTAI STH0 TF9TF e,

FTFT ATALAAT THE Feret | ATHATET GTA [ATHTO AT

SSC CHSL 2024: Faaatar

T A 1899

FHTA T

27 95

A

MAHARASHTRA
KA MAHAPACK
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SSC CHSL 2024 & o qr=raT [01 S(Te 2024 Tsti]
LDC/JSA for DEO/DEO T 'A' TRTHT3T 3T FLUITHTS ATA9TH STEAAT SreTiorsh ararar s7eft simg it SHearat AR a1 fhar
et 12 Y foham srerher aveaT St shetefT STETET,

g SterforeR qTraT
DEO/DEO T 'A' (C&AG, TTg® SHAGIX HATAA, 3T AT | HAATITH HeaThed o foug e BOem amea awret
AT faaeor srfor aiegtas garer) IAYoT Fofa TroaeT,
LDC/ JSA =fir DEO/ DEO U= 'A' (AT AYZ aFeredr | 12T s fhar awaer aitedt areaame are e femdisrge
HATAATATI T Tq< GATAATHTS) I

SSC CHSL 2024 STTg=«T: 31t o

ST TR qUT X0 THTET SHEATIAT STA9TH St [ AT AR, g1 B BHIM UPI, 7 Sfrg fFhar farstT, areewsts, #wer, &9 Hfee

fohaT Sfae 1< araea fhaT SBI aM@ied T Ta&TTd SBI T« a1 Fied T [a1e | STTd. auaTe $[eeh queiiel 42 T9& el ad.

e SSC CHSL HTET TS HIATHT WIS AT, 3T 4[5 & 100/~ 3Tz

o HIFHT, SC, ST, AL TRAGTEIT ST ATTOT AT AT SHIATIAT HIAGT (o TLUATHT ATALTFRAT ATl HILOT ATAT B ALTATITHA 2
TUATT ATAT 3TE.

o IS hI ARATSA FohaT AT HISET HIAT ST, Tl

SSC CHSL srfag==T 2024: e af

FHAT HaE SR TET=T SSC CHSL ae IfehaT 3 evaias #ae 2 e0ATd aaad! allg. SAT SHGATLIAT Tl ThIHTST oISl heAT
AT AT T A THRIQH T GTel THE holedT Te=aT Yeqqeiie aadqiigd S @, SSC CHSL 2024 & s arefier
TSI ST TR, TR SMETRT TEHAT G a0 319 Tq<a< Saefl STTed.

e =T 1: fe9¥ 1 CBT e

o o7 2: o 2 (CBT o4& + shtered /Zrafusr 9r=oft)

SSC CHSL T&m &=a&9 2024

SSC CHSL 2024 aT3t SHZATIHT Fae FXoamamst TauaeE a9 ey 90T ST Tier smanfera e, feaw [ sufor o= 11 7ex
T SHEATT S fad Ras =St are s

SSC CHSL 2024 Srfere=mr: feax 1 9de= & g
SSC CHSL 2024 feo 1 998 60 ffHeia 100 =7 HIga ST, ST UHT 200 I[OT ST, FEoieg Ti= fAaeor arefier aacarey
FeTTaer tme:

o TET AEHATHT TATET AT A
o T LAY ITALHATST 2 T[0T et AT,
o Y AMRIHEY wels Foh=a1 STt 0.50 fAvrfesg ATfEaT srier.
o foue| wefter SH=ATEIAT fMesaarer o | et AT
o FUAE! AR Fe- 31T SFHR ATRl.
o IR IHTATL T qdter=n Frarasft 80 fafae sz
[EEIUI [ELRI TETHT ST FHT 0T ST FTATTET
1 AT AT 25 50
2 ATHTT STRTEFHAT 25 50
. 60 fafae
3 TRATOTCH TRAAT (AT SAFIATOT FH197e) 25 50
4 IS ATHT (AT A1) 25 50
THRT 100 200
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SSC CHSL fe&aT 2 gamiRa adrer @sw
ST IHEATE SSC CHSL f&a® 1 w¥ie= Fie & i iar T SSC CHSL feaw 2 98emmmdt e sirsa. feow 2 wée=ar aie=an
SeARE T T AT, ST I T ST Rrieed foramreft Srara. aretier aacammed SSC CHSL fear 2 wifert des 2024 oreET:

LES o T HEAT FHTA T | FTeATaeT
a1 (2 ™ 15 | a1 30 60*3 =180 | 19T
fafae) HieLe-1: Mo ererar 30
FtIe 11: o sy wrarer gigwar, | G320 = 60
[EEIUS B 40 60*3 = 180
HIIA-1: T AT Sfor 20
S T = 60
AL 11: HTHT ST
-1 15 15*3=45 | 15fafAe
HISLA-1: HIT0T ST AT
TT-11 a1 W A: W& DEO #TeT | - 15 ffae
ASA-1l: FIAeT A0 /AT | R J=0(
AT AT AN B: SIESAMETST Hered | - 15 faf=e
FTA,
9T B: LDC/JSA 4TS | - 10 fafae (o=
T ATy IqaaTaErst 15 fAfae)
32T Ut SHIEATS SSC CHSL 2024 Yo A= 0T

IHEATI STATUT T AT o HIITHRTAL HTH FLUIATH T AT il ATal g AUTHUATHIST RIS ATV [ShaT TR0 R AT AT
AT ST, SSC CHSL 2024 HTeTe ATAVNHED &7 shiad HLUATHIS! el T G ATHT e

o AT TvE= TTeAy fEET ATior SUSt S,

o FIVCATE IHTATITAT AT ATAVIT STEHIATATHA & ATl FHILOT AT SATHATT 3T,

o T TOT ATAAT TAFTTHT 31T, FgUTold SATAH TTATHET T[0T STl AT ATRI.

o SIS HTETHTA STATHIHT 397 > 30 9r= Ui fAfA= @mET (w.p.m.)

o TEaT uTemmTa Erafi =T 3R > 30 orex Wi @i s=mET (w.pm.)

o T UL ST (DEQ) TRTHTST HTTed A0 SqeT SITSer for2l T2T UT TefT=it AT=oft shefT ST,

SSC CHSL 2024 q{&=4T YA qrdt Agar 4,
o IHTATHT [EA%-1 TGN FIHEAT TATTET [EA-11 TEEATST aTfeforee ol AT, IHEATI ATHTA T 0T [UET Ao
gfaw e i Fomadt ame S 1 - pr—
o forl wftr oA forwdie e TR fw aoft-fee -t | g
ST, TO (i) DEO, (i) DEO € 'A', #TfOr (iii) LDC/ JSA. 4 i A
e DEO AT3T fea=-111 W& Ftered ATV T I SHIATLHTST AT e, ! '
o SHMT SEATIT THET THATIES g UITT AT Mg AT 99 SHEaR @S DEO Ssc CHSL
AT 3T TS fea<-111 Hed AT FT=oft sTfaary =g, o -
S Sy (I S - ——— ", - —  Tier-1 + Tier-ll
g ohamefie stga=n FmifEr sanfor o= sequas
TEATSUgT MaTeeaT Tai=a1/ A aRT=a1 YTemama< e &, a1 a7 . New Pattern
o IHTATET YT [ =for 11 Hefie UHor 07 A0 TRiHTS=AT AT=aT STem=ar=ar 4
ATYTTEAL ATTHREA A TSl AT (HLHATST TR oAt STTEA.

800+ Total Tests
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SSC CHSL g 1 T+ mesh¥ 2024

SSC CHSL feare 1 w2 =< farsamr sfrerat ST sht |THT= I oy qehsrT<hl, STHTT STRTShal, TRATOTCHE FdT SATTor SIS Srhet .,
o 1 wferEmet A mTaTT SSC CHSL TeveT ST 2024 FTet I shefl ATg, T AT gIoaTaTal IHEaTT 94 o= ar=e
FT, HgeaT=aT FEraa =t JTEr a7 FITET AT ST & FHLal.

AT FIGHAT AT THTETST SSC CHSL STHATHHT

o TIfFFTH

o SERIHILE HTCrHT

o TATH /e /FoTHTHT AT
e I YATHAT

o FIST AFHTAAT

o  FHUATHT HAEAT

o TIT

e  HTIO

o fAenifSrE

o TRTHTATAT

o TAYE-ISIIE

o FEM-fEHIET
TRATITES TRIAAT AT SSC CHSL TATHHRH
o TTATHIT

o  HERTTIRT

o THeror srfor sy

o T SATST ATV FAHATE AT AT fAG9TTh
o FHH A AS

o Jop AT A

o WIS - fHeiey, ofF, M
o T ZeAfUeAH

o IO SATTOT SHTOT, ZHATLN
o  TEAT UITAT

o W ATTOT ATferaRT

o FHNAAH, HATSIT ATIOT HAT=AAT

IS ATHT AT SreheA=TaTSt SSC CHSL ST=mashd
o TTHT ATHAT

o FAIS dF
o  UUISEA
o HTATEAY

o =TT QAT F 2T
o T a7ef /72T areror
o TR=EE T

o T 9rex YiAwuTaT

o Hfera/Rftwr srars
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AT STRTESHAT AT3t SSC CHSL 3T¥Tashe

14

il

G ULE

afer 3o

AT &0
EENEERKIEE]
qTERTY ATTOT HeTH

AT ST A9 Fqa=rT9r 97 SO AT 0T Agea = (a0 FHIAE Aed. T4 [audrar qasiaars TvIraehs oy [Augare st

@Fﬁ'ﬁﬁwaﬂﬁ
SSC CHSL ot g2 ferste sirfor RerfHr Ay srfor sy

TA=AT GREAETS, T SSC CHSL eI 1 witera | i A mrge e=meredr =1 o= d&aT aq 2.

ICE R

4
P

T e T

SYHT

2-3

T @I ATgT

2-3

qTact
qY
qY
qY

arferaT

2

AT efor Reed

GEEE L

feromtager

HH

FifEw-RFiET

UEEIREIRECIG

OO I (|G| |WIN |-

e

Gmérm%r

Juy
o

gfafea

-
-

=2 TTITH STfor fererrforer

Juy
N

2-3

U e gfaHT

Juy
w

Gl

25

2222 (2P

SSC CHSL st Wt ey syrfer ==

G TFATHET AW a9 =47 SSC CHSL fea¥ 1 TXredie shaid (SuaTd el Seai=ar Jed= 1 o7 qrier f&erar oy, @ graren

G E R D I A D e G e

S. . A

T ST

R eTT= T T T

i

AT LTI

TEoT-Aeqq

TET 9T

FTFATHT [T

FTFTIATT ATTOr TOfT

ATt 9Tem

IEEZARIKIES

NINININININN

LIERATIE R

11

O (0| ||Vl |W[IN |-

JIT ATIT

[uny

%%%%%%%

ATFATT A=A

[uny
[}

qET-TeTT

-
-

[ETET T

3

FT=O(T T &8 FIT

[En
N

qET-Aeqq

Sl

25
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SSC CHSL eI 2 srvmeshs 2024

I AT SSC CHSL fearw 2 aéveT 2024 AT fArsTRTaTe ST aTersnd JHTa FelT 31Te.

SSC CHSL 3T+THaH 2024: IO &7 aT

AT TOTTeAN: FOT AT, TATI SATTOT ST A 0T 107 FA T Hael.

AT SO TR aT: ZgaT<y, O SATTOr STHTO, A e, A, TS (AT A0 Fha1e), T A9 qIeT, Faed, SRRy a9,
FSTTOra: oTTera ST SATfor STerfere e (ALt FHET) Ao Tl qefaweor= srerg AT=aT FAd S SR Aoa.

ferT: TTrfaeh AR SeheaT Sior a4 Ti=i sfreva. FHanror srtor car=t farferer SRt s, BraTor=t uasaar sfor a9=ar, aqe sfor
Ao oy, Frq e, M g, ade, 3941 =W, S9a1 a1 9%, STaT AqBTHL ST, T, AT, AAATHd T qHias,
Rt s fifae Banft far s e,

Brarorfact: B, Bt o, T S, S A7 ST (Faw qTeAT S9EdT) A9 o' S9 6 sin2? + Cos2?=1, T.
SATHSATLN SATTOT HATSAT: HTLUIT ST AT =T AT [EE T, ATRATAT ag s, a-STAUTH, TTe-ATe; Tedadi Ta<ii= SUT: W, e,
e, AT A=, ATeAT S9TeAd=1 0T

SSC CHSL ST+ITEaw# 2024 (ATHT Ffgwr iy a)

oTTfeah SATToT AT Sreat T o, AT R T Slarersty, Rratfors sirver, Reattem, qav S, 3, e s,
T s e, i fes FTiarhenst™, =g+ ST, (Rt iers / oY FATIRhensl, STe T, FRTee FTfathens, 9= gler/ e -
FITeeT SO ST, ATa<Ier =T qHT9T 9. fAd e A, et de-wifest snfor wfteeem, sa< B, vrass e, e

o, fonfesrer fofehT, wiserw ifesgsT, sHTeme 22forerew, 3 fafessT, Arerer Sefersrew, it sfor St-HifS, dearens siraver.

ST ATIT AT STeheA-TaTET SSC CHSL TR 2024

Vocabulary, grammar, sentence structure, synonyms, antonyms, and their correct usage; Spot the Error, Fill in the Blanks,
Synonyms/ Homonyms, Antonyms, Spellings/ Detecting misspelled words, Idioms & Phrases, word substitution, Improvement
of Sentences, Active/ Passive Voice of Verbs, Conversion into Direct/ Indirect narration, Shuffling of Sentence parts, Shuftling of
Sentences in a passage, Cloze Passage, Comprehension Passage. To test comprehension, two or more paragraphs will be given
and questions based on those will be asked. At least one paragraph should be a simple one based on a book or a story and the
other paragraph should be based on current affairs editorial or a report.

HTHTT STRIEHAT 4731 SSC CHSL ST+ITHFH 2024

ST AT=AT TIAATASAT ATATA TG EAA T HTHTET STTERAT AT ATAT THTSITETST STTRT THTHUATHTS 1= THAT oA T ST,
T AAHTT ASTHIS ™ ST SATTOT AT=AT AT T Hed Sfad (M{re0r oy sIqear=ar e arei= S qarauATaeT AT Herel
ST STH T TETT FIATET SAhHIAT STUTETT T, AT 0T AT A7 AT=AT QST qerielt Satera o= qareer s, f@ema: sfagm,
T, qRTT, AT g9, ATHTT 0T oy S1{F Helrer,

T FATETST SSC CHSL STHITas 2024

o T YAYT: FIUHTAT HoeAT, Hed THET e (), 3T/ ATSSTE TR, FI0TE THLT, HHL HEAT, FH3AT STH, T1E,
e T iy e afdee.

o [ITEIAT: HITAHIFE A hE=AT AT TS0 (HSIST AT HeeH STH i THUH a<, THUH TF 0 7197 9ise 3.

o TeXHE AT -HeHHE FTT FLO: AT FTSTT ATIOT STeT, TTIAATES ATIOT STTATE FT0, S-HA GTT SAFTEATIHT F20, T-af f,

o FeatHaT O ATHaT Gl Yeraa: Tea ST STHTT AT TIETh T, Feash ATIor WTige T FLeT ek (ST i 2ok, =gy, o,
TSI 2.), ATTOr Sfaeremede: I,
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T U AIRETHTST HISe AT

AT FATAVHET IHEATIET ST THAT 37T 8,000 (TS FATY) THer T qT Sramar. Ar=ofi=m swreraet 15 fffae=m s sfor erew
FLUTETST STaTr 2000-2200 F21h /Y fSrerear srererer St aeauas faer .

FNUTST ATV ek ST U T SHTETHTST AT ATeel. TAY TITETST Furst LDC/JSA HTST T feT Jr=ofy Sraeft e,

I ATAVETST:

o 9T I =37 A= 11 wed = faaeft 7 11 /e hrere Ar=oft /T Ar=oft FHIaE ST

o TS ATV /ZTATIT ATV OT SV,

o FHIST ATAUNANA LT 2 FATA TATATTAT HISTAT STATA.

o AT UL ATETATS AN ATAVIT SATHATH AL, AT SHIATAT HILT ATAVNT THUATITEA G2 ATel.

AT FrAiETST:

o AT ofe= wreaw B e Susit s

o SHTATIHT ATATSH A HET ST ATAVN= ATeAH HaASTd AR, FEUIST T2al et 3l

o IS WXATAT ETITURT ATAOCET THTT ST STHA. STATIT TEHEAAT ATETHTT FIUATE! 9& gV ATal.
o IS ATAH MASUTT IHEATLET ZATHT=AT 397 35 9re7 i [AfHe (w.p.m.) @,

o TEaT ureaw FMasom=aT SH=ETET 2 TU=T o 30 s% i e (w.p.m.) s@TET.

o TTUTEHTET faedT ASTEY 10 Tl eTea FTvaT=aT STahd=aT AT A A% T Srea.

I ATV T B
2T UL AT FATUTHTAY T a9 8000 T RATHATZST | o ATAVHAT FTeTaedt 15 =T s,
TEHET AT, o IUSHAIS HiT A&l SATHET AL 2000-2200

# RIaT 9t AT T IHEATT oot
ST Ter ST FATHUIT FITITRT FHTH 9T FLA .

AT IEREED ATTOr | fReToaT SATATIHTT Teai=T ST A1a (4l | o  ATAVIHAT AreTaelt 15 ffaer=T srae

HETAETI A (C&AG) | Fit fevrera=aT semy wfd am& 15000 #T | o TUSHHE [lad T SATHE ATAVT EIOTHTT

FTATAATA A 2T TLT 3TET IEEAEEIEUREE ISR SRS IS TUaT FOAERET AL 3700-4000 #Fr =3
AT

o ffam s/ sFg | 9 9@ 10500 F Raa=r av [{fsra | o === FemEed 15 fffe=T s

TfeaTes TgT=aF (LDS/JSA) | helT ST o SUSIHEY PTIS THIU SATHET TATL 9000 Ft
Ruem/am g% SUEaraT FAT=ut JTrERTT
T FXOAETET faet ST,

SSC CHSL 2024 3

SSC CHSL 2024 siaq = aueiierar fgmmadis Mo fevamare, FHEr=T s ForedT aaaaviasd ATedl a0 g e,
SSC CHSL 2024 13T 7 24T 9+ SARTET TR A 5 AT IS THg TR HTT Aaq TaAT I3 3ATE. IHIATL GTeA | [T qaFearaed
TR A0 T T

SSC CHSL TTTX
EEERIE ESEEICE
LDC/ JSA Ja« Tq2-2 (%. 19,900-63,200)
EIEE A9 TqL-4 (%. 25,500-81,100) 70T F¥2-5 (%. 29,200-92,300)
LA I A A9 Fq-4 (%. 25,500-81,100)
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Addal247

Exam Date 09/03/2023
[Exam Time 9:00 AM - 10:00 AM
ISubject CHSL Exam 2022 Tier |

Section : English Language

Q.1 Rearrange the parts of the sentence in correct order.
Climate change is
P. climate caused by natural forces in combination
Q. a broad topic that includes periodic alterations in Earth’s
R. with the effects of various human activities like burning of
S. fossil fuels and changes in land cover and biodiversity

Ans X 1.RSQP
X 2.PSQR
X 3.SRPQ
4 QPRS

Question ID : 264330124039
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate option to fill in the blank.
However, even after Independence in 1947, British expatriate firms did not suddenly
from India.

Ans X 1.close
o 2. divest
25 3. consecrate

X 4. disallow

Question ID : 264330124756
Status : Not Answered
Chosen Option : --

Q.3 Choose the word that can substitute the given group of words.
Study of heavenly bodies

Ans X 1. Numerology
&’ 2. Astronomy
< 3. Astrology
#< 4. Stargazing

Question ID : 264330124309
Status : Answered
Chosen Option : 2



dell
Stamp


Q.4 Choose the word that is opposite in meaning to the given word.
Frustrate

Ans 2 1.1k

< 2. Circumvent
o 3. Foster

< 4. Fetter

Question ID : 264330124173
Status : Answered
Chosen Option : 2

Q.5 Choose the option that is the correct passive form of the sentence.
Ravi gave you the information?

Ans X 1. Has the information given to you?
«” 2. Was the information given to you by Ravi?
< 3. Have the information been given to you?

< 4. You have been given the information?

Question ID : 264330124757
Status : Answered
Chosen Option : 2

Q.6 Choose the incorrectly spelt word.
Ans o 1. Shuot

< 2. Bloom
< 3. Broom
< 4. Gloomy

Question ID : 264330124099
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate ‘one word' for the expression given below.
One who has persistent neurotic impulse to steal

Ans X 1. Iconoclast
«” 2. Kleptomaniac
< 3. Hypocrite

< 4. Connoisseur

Question ID : 264330125779
Status : Answered
Chosen Option : 2

Q.8 Choose the word that can substitute the given group of words.
One who hates institution of marriage

Ans X 1.Coquette
< 2. Polyglot
< 3. Pedantic
&’ 4. Misogamist

Question ID : 264330124414
Status : Answered
Chosen Option : 4




Q.9 Choose the sentence with no spelling error.
Ans X 1. You remind me of someone | knew onse.

«” 2. You remind me of someone | knew once.
X 3. You remiend me of somone | knew once.

< 4. You reminde me of someone | knew once.

Question ID : 264330124100
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate meaning of the given idiom.
Slap on the wrist

Ans X 1. Criticize someone strongly and angrily
2< 2. Wild with excitement
< 3. Misunderstand each other
«” 4. A mild punishment

Question ID : 264330124774
Status : Answered
Chosen Option : 4

Q.11 Choose the word that means the same as the given word.
Apologetic

Ans X 1. Derisive
«” 2. Contrite
< 3. Stagnant
X 4. Solid

Question ID : 264330124103
Status : Not Answered
Chosen Option : --

Q.12 Choose the word that means the same as the given word.
Magnanimity

Ans o 1. Altruism
£5 2. Virulence
#< 3. Invidiousness

#< 4. Volatile

Question ID : 264330124572
Status : Answered
Chosen Option : 3

Q.13 Fill in the blank with an appropriate option.
My feet don’t the ground for the rest of the day.

Ans 7 1.touch
< 2.slab
< 3. purify
&< 4. deal

Question ID : 264330124547
Status : Answered
Chosen Option : 1




Q.14 Select the correct indirect form of the given sentence.
The sage said, “Man proposes and God disposes.”

Ans & 1. The sage said that man proposes and God disposes.

< 2. The sage said that man had proposed and God had disposed.
25 3. The sage said that man propose and God dispose.

< 4. The sage said that man proposed and God disposed.

Question ID : 264330124082
Status : Answered
Chosen Option : 1

Q.15 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if
the sentence is grammatically correct.
A man may die, nations may rise and fall, but an idea lived on.

Ans X 1.liveon
25 2. livesin
o 3. lives on

< 4. No improvement

Question ID : 264330124198
Status : Answered
Chosen Option : 3

Q.16 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Body and soul

Ans X 1. Life and death
< 2. Happiness and sorrow
«” 3. Wholly and entirely
< 4. To solve a difficulty

Question ID : 264330124097
Status : Answered
Chosen Option : 3

Q.17 Rearrange the parts of the sentence in correct order.
P. versions of the European poor laws, charitable and
Q. in former colonies, such as Ghana, Jamaica, India and the
R. missionary activities, and the introduction of Western juvenile justice procedures

S. Philippines the basic welfare services grew out of modified
Ans o 1.QSPR
# 2.QPRS
& 3.PSQR
# 4.PRSQ

Question ID : 264330124092
Status : Answered
Chosen Option : 1




Q.18 Choose the word that means the same as the given word.
Quandary

Ans X 1.Cinch
25 2. Breeze
< 3. Clique

o’ 4. Impasse

Question ID : 264330124052

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.19 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.
The recent discoveries have risen hopes about possible applications.

Ans X 1. No error
& 2. have risen hopes
25 3. The recent discoveries

25 4. about possible applications.

Question ID : 264330124083
Status : Answered
Chosen Option : 1

Q.20 Identify the segment in the sentence which contains a grammatical error. If there is no
error, then select the option "No error”.
And it just recently awarded/ a million-dollar contract/ that reeks of corruption.

Ans X 1. that reeks of corruption.
25 2. a million-dollar contract
«” 3. No error

< 4. And it just recently awarded

Question ID : 264330124760
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.clothes

«” 2. colour
< 3.size
/5 4. shape

Question ID : 264330124086
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.steady

X 2. trepid
o” 3. ready
< 4. sober

Question ID : 264330124087
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. halts

X 2. tapes
< 3. breaks

o 4. packs

Question ID : 264330124088
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. suited to

& 2. shipped off
/< 3. managed of

25 4. accounted to

Question ID : 264330124089
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some of the words have been deleted. Read the passage carefully
and select the correct answer for the given blank out of the four alternatives.

Many fruits and vegetables change (1) as they ripen. For example, tomatoes,
strawberries, and red bell peppers all change from green to red. Colour is just one way along
with size, texture, and smell that you can tell if a fruit or vegetable is (2) to be
harvested or eaten. Imagine a factory that (3) strawberries into plastic containers to
be (4) to grocery stores across the country. It might be useful to have a machine that
automatically (5) any green strawberries that were picked before they were ripe. Or,
you might want a machine on the farm that automatically recognizes strawberries by colour
and only picks the red ones to begin with.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.sustains

«” 2. rejects
< 3. detains

/< 4. proceeds

Question ID : 264330124090
Status : Answered
Chosen Option : 2

Section : General Intelligence

Q.1 After interchanging the given two signs, what will be the value of the given equation?
x and +
47 +13+65%x5-16

Ans X 1.195
< 2.190
o 3.200
&< 4.205

Question ID : 264330126361
Status : Answered
Chosen Option : 3




Q2 How many quadrilaterals are there in the given figure?

Ans X1 24
X2 25
X3 22
¥4 23

Question ID : 264330126859
Status : Answered
Chosen Option : 3

Q.3 If96C 3=32and 288 C 8 =36,then408C 6="?
Ans X 1.62

X 2.60
X 3.64
o 4.68

Question ID : 264330126341
Status : Answered
Chosen Option : 4




Q.4  If a mirvor is placed on the line AB, then out of the option figures which figure will be the right image of the question
figure?

A

1

B
Ans

& 3.

o 4.

Question ID : 264330126962
Status : Answered
Chosen Option : 2

Q.5 If amiror is placed on the line AB, then out of the option figures which figure will be the right image of the guestion
figure?

s

WrrrrrrT e

Ans
o1
No
~ 2 \:I
& 3
N
&< 4.

Question ID : 264330126712
Status : Answered
Chosen Option : 3




Q.6 In the following question, four number pairs are given. In each pair the number on left
side of (-) is related to the number of the right side of (-) with some Logic/Rule
IRelation. Three pairs are similar on basis of same Logic/Rule/Relation. Select the odd
one out from the given alternatives. (NOTE: Operations should be performed on the
whole numbers, without breaking down the numbers into its constituent digits. E.g.13
— Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is not allowed)

Ans 2 1.2125-8600
& 2.1595 - 6380
#5 3.2685- 10740
& 4.3375- 13500

Question ID : 264330127045

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.7 Words given on the left side of (::) are related with each other by some Logic/Rule
IRelation. Select the missing word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.

Pen : Author :: Axe : ?

Ans X 1. Teacher
5 2. Chef
«” 3. Woodcutter
25 4. Cobbler

Question ID : 264330126338
Status : Answered
Chosen Option : 3

Q.8 In a certain code language, ‘GIRL’ is coded as ‘QWNL’. What is the code for ‘KEPT’ in
that code language?

Ans X 1.YUKR
X 2. YUKP
X 3.YVJP
4. YUJP

Question ID : 264330126772
Status : Answered
Chosen Option : 4

Q.9 Out of the given words, three are similar in a certain manner. However, one option is
NOT like the other three. Select the option which is different from the rest.

Ans X 1.Banana
< 2. Grape

< 3. Apple
«” 4. Cauliflower

Question ID : 264330127430
Status : Answered
Chosen Option : 4




Q.10

How many red cars are there?

Blue Cars
Black Cars
14
Red Cars

Ans X' 1 2%

K2 22

X3 3]

4 33

Question ID : 264330126863
Status : Answered
Chosen Option : 4

Q.11 In the following question below are given some statements followed by some

conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:

I. All Z are D.

I.NoYisZ.

Conclusion:

|. Some D are not Y.

Il. Some Z are not Y.

lll. Some D are Z.

Ans X 1. Both conclusions Il and Il follows

25 2. Both conclusions | and Il follows

«” 3. All conclusion follows

< 4. Only conclusion | follows

Question ID : 264330126781
Status : Answered
Chosen Option : 3

Q.12 Words given on the left side of (::) are related with each other by some Logic/Rule

Ans

IRelation. Select the missing word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Tea:Cup::?

< 1. Paper : Pulp
&’ 2. Food : Plate
#< 3. Milk : Drink
25 4. Glass : Water

Question ID : 264330127053
Status : Answered
Chosen Option : 2




Q.13 Select the option that is related to the third number in the same way as the first
number is related to the second number and fifth number is related to sixth number.
14:210::13:?::16: 272

Ans 1. 204
2.174
3.162
4.182

Question ID : 264330126841
Status : Answered
Chosen Option : 4

Q.14 In the following question, select the missing number from the given series.
129, 126, 123, 120, 117, ?

Ans 1.115
2. 114
3. 112
4.113

Question ID : 264330126339
Status : Answered
Chosen Option : 2




Q.15 Select the option figure in which the given figure is embedded. (Rotation is NOT allowed).

Ans

< 1.

X 4.

Question ID : 264330127635

Status : Answered

Chosen Option : 3

Q.16 Select the option in which the numbers shares the same relationship in set as that
shared by the numbers in the given set. (NOTE: Operations should be performed on
the whole numbers, without breaking down the numbers into its constituent digits.
E.g.13 — Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is not allowed)

(79, 89, 101)
(31, 41, 47)

Ans 7 1.(29,37,43)
X 2.(53,61,67)
X 3.(17,19, 23)
X 4.(43,47, 59)

Question ID : 264330126768

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.17 Words given on the left side of (::) are related with each other by some Logic/Rule

IRelation. Select the missing word/word pair on the right side of (::) from the given
alternatives based on the same Logic/Rule/Relation.
Design : Architect :: ?

Ans X 1.Book : Poem
& 2. Furniture : Carpenter
25 3. Shoes : Poet
25 4. Editor : Newspaper
Question ID : 264330127228
Status : Answered
Chosen Option : 2
Q.18 select the figure from the given options that can replace the question mark (7) in the following series.
M <
?
vl 95 vas) Il e
Ans

< 1. o

Z >

) |®

X

O"z@

Question ID : 264330126783
Status : Answered
Chosen Option : 4




Q.19 A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate
how it will appear when opened?

dig 4%
w4
v

wi

Ans

bhANF
X1 lFd44%
NPh 4

bhbhNF
X2 [FPu4dn
NP 44

bANF
V3 [FPR4dh
NP h 4

FA¥ A
X4 lPR4an
NbhP 4

Question ID : 264330127236

Status : Answered

Chosen Option : 3

Q.20 In the following question, four number pairs are given. In each pair the number on left
side of (-) is related to the number of the right side of (-) with some Logic/Rule
IRelation. Three pairs are similar on basis of same Logic/Rule/Relation. Select the odd
one out from the given alternatives. (NOTE: Operations should be performed on the
whole numbers, without breaking down the numbers into its constituent digits. E.g.13
— Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then performing mathematical
operations on 1 and 3 is not allowed)

Ans X 1.2222- 4444
o 2.55565 - 7777
< 3. 3333 - 6666
X 4.4444 — 8888

Question ID : 264330127220

Status : Answered

Chosen Option : 2

Q.21 In a certain code language, ‘TEFLOANS’ is coded as ‘2056121226138’, ‘SERGEANT’ is
coded as ‘“1951872226137’. What is the code for ‘UNIQUELY’ in that code language?

Ans X 1.2114917632142
5 2.2124917623152
o 3.2114917622152
< 4.2115917623152

Question ID : 264330126773

Status : Not Answered

Chosen Option : --




LOG, FLH, ZIl, TFJ, NCK,?
Ans 7 1. HZL

X 2. HAL
X 3.HzMm
X 4. HYL

Q.22 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.

Question ID : 264330126776
Status : Answered
Chosen Option : 1

Ans X 1.ABCD
X 2. UKL
X 3.LMNO
4. BDEF

Q.23 In the following question, select the odd letter/letters from the given alternatives.

Question ID : 264330126779
Status : Answered
Chosen Option : 4

T related to W?
Ans X 1. Maternal Uncle

< 2. Father
& 3. Father in law
< 4.Son

Q.24 S is the sister of T. R is the brother of S. U is the wife of W. T is the father of U. How is

Question ID : 264330126777
Status : Answered
Chosen Option : 3

1. Wage
2. Waist
3. Waste
4. West

5. Wave

Ans X 1.24351
o 2.12354
X 3.35241
X 4.42135

Q.25 Arrange the given words in the sequence in which they occur in the dictionary.

Question ID : 264330127421
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude




Q.1

If sec B +tan 8=5 . then what is the value of sec8—tan 8 ?

Ans X1 1/2
<2 1/6
3 1/5
<4 1/3

Question ID : 264330128159
Status : Answered
Chosen Option : 3

Q.2

Ans X 1. |
X2 2
V30
X4 1

Ifa—+b+c=0, then what is the value of a3 + b’ + ¢ — 3abc?

Question ID : 264330127777
Status : Answered
Chosen Option : 3

Q.3 Find the area of a triangle whose length of each side is 13 inches, 15 inches and 14 inches.

Ans

« 1. 84 square inches
& 2. 81.2 square inches
& 3. 42.1 square inches

X 4. 84.2 square inches

Question ID : 264330127776
Status : Answered
Chosen Option : 1

Q.4 Length of a chord is 30 cm in a cirele whose radius is 17 em. What will be the distance of this chord from the centre?

Ans X 1. Gem
X2 15cm
X3 12cm
& 4 Bcocm

Question ID : 264330128123
Status : Answered
Chosen Option : 4




Ifcoty = 15—2 then what is the value of cos?y?

Ans 144
1.
169

84
p
143

72
3.
143

¥ L5

91

Question ID : 264330126476
Status : Answered
Chosen Option : 1

Q.6 The pie chart given below shows the number of girls in six schools B, @, R, 3, T and U. The total number of girls in all
these six schools are 3000, Wumber of gitls in a particular school is shown as a percentage of total number of girls inall
these six schools.

What is the total namber of girls in school P and R?
Ans X 1. 930

¢ 2. 1440

X 3 1620

X 4. 870

Question ID : 264330127862
Status : Answered
Chosen Option : 2

Q.7  The table given below shows the number of pens sold by two shopkeepers P and Q in 5 months.

Shopkeepers
Months | P Q
A 100 | 10
B 80 20
C 40 120
D 30 60
E 10 50

J1 = The value of average number of pens sold by P in all five months.
J2 = The value of average number of pens sold by Q in all five months.
What is the value of (J1/72)?
Ans 1 2
2 ]
< 3
&< 4.

R 8

Question ID : 264330128061
Status : Answered
Chosen Option : 2




commeoen tangent?

Ans (1. 21 ¢cm
X2 22cm
¢ 3 24 cm
X4 23cm

Q.8 Radii of rwo cireles are 12 em and S em. Distance between their centres is 25 em. What is the length of the direet

Question ID : 264330127774
Status : Answered
Chosen Option : 3

1600
1200
00

600 600 800

400
= i

L 2t g = . : ?

1 K L Il

OSaving  m Expenditure

2000

BOO
8 1
M

Ans 1. 120 percent
X 2. 150 percent
« 3. 100 percent
X 4. 90 percent

Q.9  The bar graph given below shows the saving and expenditure of 5 companies T, K, L, M and N.

The average savings of all companies is what percent of the average expenditure of all companies?

Question ID : 264330128285
Status : Answered
Chosen Option : 1

Ans X' 1. 820 cm
<2 9]0cm
«< 3. 800 cm
« 4. B80 cm

Q.10 The radius of a wheel is 14 cm. How much distance will be travelled by the wheel in 10 revolutions?

Question ID : 264330127766
Status : Answered
Chosen Option : 4

1+sec A

Q.1

What is the value of (
Ane X1 cosec? A

X2 gec? A

X3 cos?A

4 tanz A

1+cos? A

14cosecZA

Question ID : 264330127783
Status : Answered
Chosen Option : 4




Q12 wWhat is the value of 44 » 12 — (25 + 13 x 10)?

Ans 1. 373
<2 613
< 3. 633
<4 573
Question ID : 264330126485
Status : Answered
Chosen Option : 1
Q.13 5.2 1 1,3 5
: 256 557
What is the value of 7— T O 0
5’5 272 34 '2°57'8

Ans X 1. 32/127

X2 28/125
3 25/123
X4 31/127
Question ID : 264330127781
Status : Answered
Chosen Option : 3
Q.14 A person sells wheat at a profit of 25 percent. If he reduces its selling price by Rs. 40, then he suffers a loss of 25
percent. What was the initial selling price of the wheat?
Ans X 1. Rs. 60
X2 Rs. 80
X3 Rs. 120
« 4 Rs. 100
Question ID : 264330127845
Status : Answered
Chosen Option : 4
Q.15 What will be the compound interest on Rs.14.000 for 2 vears at the rate of 10% par anmum compeunded annually?
Ans X 1. Rs.3.490
X 2 Rs.1,490
< 3. Rs.6.940
« 4 Rs.2.940
Question ID : 264330128422
Status : Answered
Chosen Option : 4




Q.16 Angle subtended by a chord xy on the centre of a circle is 180 degree, If length of this chord is 36 cm, then what will
be the radius of this circle?

Ans 1. 18 cm
X2 27cm
X3 24cm
<4 21cm

Question ID : 264330126475
Status : Answered
Chosen Option : 1

Q.17 The average age of 30 students is 15 years. It was observed that while calculating the average age, the age of a student
was taken as 13 years instead of 9 years. What will be the correct average age?

Ans 1. 14.8 years
X 2. 16.4 years
X 3. 14.2 years
X 4. 15.6 years

Question ID : 264330127767
Status : Answered
Chosen Option : 1

Q.18 2 1
" 1+x 1— x{1—x)
What is the value of = ?
1-x x—1 (1+x)
Ans —x
| —
v (14x)2
2 —X
S 142a2
—3 K
X3 —
14x
b
5 4.
142

Question ID : 264330127854
Status : Answered
Chosen Option : 4




Q19 The following histogram shows the score by the students of grade 10.

Ans

What percent of total student scored more than 60%?

30

20

15 -

Number of students

25

12
10 -

7 B 2

o N N ,

0-20 21-40 41-60
Score {in %)

61-80

81-100

Question ID : 264330128438
Status : Answered
Chosen Option : 4

Q.20

Ans

Accar travels a distance of 60 km at vniform speed. If the speed of car is increased by 8 kahe. then it takes 2 hours less
to cover the same distance. What is the original speed of the car?

#1015 kmvhr
¢ 2. 12 km/hr
2316 km/'hr
# 4 10 km/hr

Question ID : 264330127765
Status : Answered
Chosen Option : 2

Q.21 Tina alone can do a piece of work in 12 days and Meena alone can do the same work in 15 days, If Tina and Meena

Ans

undertook to do this work for Rs.18,000, then how much amount will Meena get, if they work together?

< 1. Rs.10,000
« 2. Rs.8,000
< 3. Rs.6,000
< 4 Rs.12.000

Question ID : 264330128414
Status : Answered
Chosen Option : 2




Q.22 1f 20 percent of P is added to 40 percent of @, then the resultant conies as 80 percent of Q. P is what percentage of Q7
Ans 1. 200 percent
& 2. 225 percent
& 3. 150 percent
X 4. 125 percent

Question ID : 264330127769
Status : Answered
Chosen Option : 1

Q.23 /5 of marked price is equal to 5/8 of selling price. What is the discount percent?
Ans X 1. 42 percent
« 2. 306 percent
X 3. 50 percent
X 4. 40 percent

Question ID : 264330127843
Status : Answered
Chosen Option : 2

Q24 1f p/q=r/s =t/u=2/5, then what is the value of (4p + 3r + 7t) : (4q+ 35+ Tu)?
Ans X 1..4:11
K2 3:7
K3 5:9
V4 2:5

Question ID : 264330127771
Status : Answered
Chosen Option : 4

Q25 The average of 32, 34, 38, 21, 26 and x is 30. What will be the value of x?
Ans s 1. 30

* 0

X3 28

x4 3]

Question ID : 264330126474
Status : Answered
Chosen Option : 1

Section : General awareness

Q.1 Which of the following statement is correct regarding air pressure?

Ans X 1. High pressure is associated with cloudy skies and wet weather.
25 2. Low pressure is associated with clear and sunny skies.
«” 3. The air always moves from high pressure areas to low pressure areas.

< 4. The air pressure is lowest at sea level and increases with height.

Question ID : 264330124947
Status : Answered
Chosen Option : 3




Q.2 Which of the following provisions of the Indian constitution is borrowed from the
constitution of Canada?

Ans X 1. Concept of Republic
«” 2. Advisory jurisdiction of the Supreme court
< 3. Independence of judiciary

25 4. Concept of concurrent list

Question ID : 264330124879
Status : Answered
Chosen Option : 2

Q.3 Which among the following cities won the India’s cleanest city award for sixth time in a
row in 20227

Ans X 1.Kolkata
&’ 2. Indore
< 3. Gurugram
< 4. Pune

Question ID : 264330125514
Status : Answered
Chosen Option : 2

Q.4 Which among the following statements is incorrect?

Ans X 1. The primary market is also known as new issue market.
«” 2. Industrial Securities Market is also known as gilt-edged market.

< 3. The secondary market is the market for the sale and purchase of previously issued
securities.

< 4. RBI plays a dominant role in the gilt-edged market through its ‘Open Market
Operations’.

Question ID : 264330125516

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.5 Which article of the Indian constitution mentions that it is duty of the Union
government to protect States against external aggression and internal disturbance?

Ans X 1.353
X 2.356
X 3.358
o 4.355

Question ID : 264330124953
Status : Answered
Chosen Option : 2

Q.6 Which of the following shortcut is used in to close an open workbook in MS-Excel
3657

Ans 7 1.Ctrl+W
X 2.Ctrl + X
X 3.Ctrl+L
X 4.ctrl+C

Question ID : 264330124859
Status : Answered
Chosen Option : 2




Q.7 Which country will host the FIFA Women’s World Cup 20237?
Ans X 1. ltaly and France

#< 2. Japan and China
&’ 3. Australia and New Zealand

< 4. United States of America and Canada

Question ID : 264330125331
Status : Answered
Chosen Option : 3

Q.8 Which of the following statements is NOT correct regarding mixtures?
Ans ¢ 1. Colloids are heterogeneous mixtures in which the particle size is large.

#2< 2. A solution is a homogeneous mixture of two or more substances.
#< 3. The major component of a solution is called the solvent.

< 4. The minor component of a solution is called the solute.

Question ID : 264330124869
Status : Answered
Chosen Option : 2

Q.9 The plants of which of the following plant kingdoms are known as algae?
Ans X 1.Bryophyta

4 2. Thallophyta

< 3. Pteridophyta

< 4. Angiosperms

Question ID : 264330125518
Status : Answered
Chosen Option : 2

Q.10 India’s first 24 x 7 solar-powered village Modhera is located in which state?
Ans X 1. Madhya Pradesh

«” 2. Gujarat
#5 3. Rajasthan
< 4. Himachal Pradesh

Question ID : 264330124862
Status : Answered
Chosen Option : 3

Q.11 Tropic of Cancer (23°30’ N) p through state of India.
Ans X 1. Kerala

«” 2. Chhattisgarh
< 3. Punjab
< 4. Maharashtra

Question ID : 264330125646
Status : Answered
Chosen Option : 2




Q.12 Dhinodhar Hills is located in which Indian state/Union Territory?
Ans o 1. Gujarat

< 2. Maharashtra

< 3. West Bengal

#2< 4. Andaman and Nicobar Islands

Question ID : 264330125523

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 Who among the following discovered the neutrons?
Ans 7 1.J. Chadwick

25 2. Neils Bohr
< 3. E. Goldstein
#< 4. Ernest Rutherford

Question ID : 264330124867
Status : Answered
Chosen Option : 1

Q.14 Carnatic music is confined to
Ans X 1. Karnataka, Maharashtra, Gujarat and Rajasthan

«” 2. Karnataka, Andhra Pradesh, Tamil Nadu and Kerala
#< 3. Uttar Pradesh, Bihar, West Bengal and Haryana
#5 4. Gujarat, Maharashtra, Rajasthan and Haryana

Question ID : 264330124811
Status : Answered
Chosen Option : 2

Q.15 The value added of a firm is calculated as
Ans X 1.value of production of the firm + value of intermediate goods used by the firm

< 2. value of production of the firm + value of capital goods used by the firm
4 3. value of production of the firm — value of intermediate goods used by the firm

< 4. value of production of the firm / value of intermediate goods used by the firm

Question ID : 264330124865

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 A is an electronic device that receives a weak signal and regenerates it.

Ans 7 1. repeater
< 2. router
< 3. switch

X 4. hub

Question ID : 264330124933

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.17 Who is famously known as Bihar Kesari?
Ans 2 1. Karpuri Thakur

«” 2. Shri Krishna Sinha
#< 3. Rajendra Prasad
< 4. Lala Lajpat Rai

Question ID : 264330125651

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.18 The Chief Minister of which state launched "Football for All" in the state to take the

culture of football to the grassroots?
Ans X 1. Jharkhand

#< 2. Madhya Pradesh
& 3. Odisha
< 4. West Bengal

Question ID : 264330125513
Status : Answered
Chosen Option : 4

Q.19 Who among the following won the Men's Singles Title of the US Open 20227

Ans X 1. Stefanos Tsitsipas
< 2. Rafael Nadal
4 3. Carlos Alcaraz
#< 4. Casper Ruud

Question ID : 264330125532
Status : Answered
Chosen Option : 3

Q.20 What is the average height of troposphere?
Ans X 1.50km

o 2.13km
< 3.30 km
X 4.6km

Question ID : 264330124870

Status Not Attempted and
" Marked For Review

Chosen Option : --

Q.21 In which year was Raziyya removed from the throne of the Delhi Sultanate?

Ans X 1.1238
X 2.1244
2 3.1236
& 4.1240

Question ID : 264330124950
Status : Answered
Chosen Option : 4




Q.22 The fifth edition of the Khelo India Youth Games will be held in cities in Madhya
Pradesh.

Ans 7 1. eight

X 2. six
< 3. seven

< 4. nine

Question ID : 264330125156

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 Which among the following films received the Filmfare award for the Best Film popular
choice in 20227?

Ans X 1. Rashmi Rocket

&’ 2. Shershah

< 3. Ramprasad Ki Tehrvi
< 4. Sardar Udham

Question ID : 264330125527

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.24 Warli Painting is the folk painting of state of India.
Ans ¢ 1. Maharashtra

< 2. Mizoram

< 3. Manipur

< 4. Karnataka

Question ID : 264330125360
Status : Answered
Chosen Option : 1

Q.25 In which year Mahatma Gandhi organised a satyagraha in the Kheda district of Gujarat
in the support of peasants?

Ans 2 1.1918
X 2.1916
X 3.1919
X 4.1920

Question ID : 264330124874
Status : Answered
Chosen Option : 1




